Average

® Three homes on Lavendar Lane

Sold for an average price of
& £9,000- Two of +he homes Sold for

895,000 each. What is The price
of the third home?

O Let x = price of 3™ home

@ S&"" wp aucra%-’
4 5000 + 95000 + X= €9, 000

5
@ Solve : 190000 * X §9,000
-
(21, 19000 . x = §9000 -3
(7)) &
190900 + = 26F000
- 4000 /90 09°



@ The F™grade Ked Cluster

averagl,d. 32 items per advisory
i Food Cupboard! Mhr. Bowles’

;
advisoy had 40 items, Urs. Tasters’

had 3§, Mrs.Cole had 20, lur.
hadt 33. How Mmany did

Gavaghan
"'N.Ag—umu advisory have fo 7hau¢

&) set up a.déra.?ci
Yo+ at+260+33 X 3,

5
) 4 12 + X =32 5§

)

‘/4;&-‘-7! = /60
oIl

re—

¥ = 33 1tems




